
Name: ____________

Order of Operations Grade 5 Order of Operations Worksheet 1

Solve the equation.

1. 5(3 + 5) + 20 = ______

2. 42 ÷ 7 + 9 x 4 = ______

3. 20 + 4² x 2 = ______

4. 5² + 3² x 2 = ______

5. 12(32 ÷ 4) + 4² = ______

6. 4 x 4 + 12 x 7 = ______

7. 10(4 x 5) x 2 = ______

8. 5² x 3(10 ÷ 5) = ______

9. 96 ÷ 12(20 – 8) x 2 = ______

10. 22 x 2 + 18 x 2 = ______



Name: ____________

Order of Operations Grade 5 Order of Operations Worksheet 1

Solve the equation.

1. 5(3 + 5) + 20 = 60

2. 42 ÷ 7 + 9 x 4 = 42

3. 20 + 4² x 2 = 52

4. 5² + 3² x 2 = 43

5. 12(32 ÷ 4) + 4² = 112

6. 4 x 4 + 12 x 7 = 100

7. 10(4 x 5) x 2 = 400

8. 5² x 3(10 ÷ 5) = 150

9. 96 ÷ 12(20 – 8) x 2 = 192

10. 22 x 2 + 18 x 2 = 80


